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Q1. Consider the following sectors:

1. Lottery Business

2. Chit funds

3. Nidhi company

4. Mining and Exploration of metal and non-
metal ores

In how many of the above sectors Foreign direct

investments (FDI) is prohibited in India?

(@) Only two

(b) Only three

(c) All four

(d) None

Q2. With reference to the Preamble to

the Constitution of India, consider the following
statements:

1. Strengthening the unity and integrity in the
nation is one of the major objectives stated in
the Preamble.

2. Maintaining international peace and a just
international order is included in the
Preamble as an important constitutional
objective.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

Q3. It is one of the most important waterfowl
refuges of the world and also a Ramsar site
and a World Heritage site. It was the only
known wintering site of the central
population of the critically endangered
Siberian Crane, and also serves as a
wintering area for other globally
threatened species such as the Greater
Spotted Eagle and Imperial Eagle.

Which one of the following is described in
the above passage?

(a) Keoladeo National Park

(b) Ranthambore National Park
(c) Sariska Tiger Reserve

(d) Kaziranga Wildlife Sanctuary

Q4.With reference to Development Finance
Institutions (DFIs) in India, consider the
following statements:

1. Industrial
Limited was established by the government as
the first DFI of the country.

2. Micro Units Development and Refinance
Agency is a DFI subsidiary of Reserve Bank of
India.

3. National Bank For Agriculture and Rural
Development as DFI formed on
recommendation of the Sivaraman committee.

How many of the above statements are correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Finance Corporation of India

was

Q5. With Vaccine-derived
polioviruses (VDPVs), consider the following
statements:

1. It is a rare strain of poliovirus that has
genetically mutated from the strain contained
in the oral polio vaccine.

2. Currently, it is the only source of polioviruses

reference to

in the world.
3. Itisan incurable form of poliovirus.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None
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Q6. Consider the following statements:

1. Only the Central Government of India can
frame laws relating to the manufacture, supply
and distribution of salt by Union agencies in
India.

2. Only the State Legislatures can frame laws
relating to the taxes on agricultural income in
India.

3. Only the State Legislatures can frame laws
relating to the prevention of cruelty to animals
in India.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q7. Which of the following pairs is/are
correctly matched?

Mars Mission Country
1. InSight USA
2. Tianwen-1 Japan

3. Mars Express : European Space Agency
Select the correct answer using the code given
below.

(a) 2only

(b) 1 and 3 only

(c) 2 and 3 only

(d)1,2and 3

Q8. With reference to Methane, consider the
following statements:

1. Methane is a short-lived climate pollutant
(SLCP) with an atmospheric lifetime of
roughly around a decade.

2. Global Methane Initiative is a voluntary
government and an informal international
partnership.

3. India is not a member of the Global Methane
Initiative.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None

Q9. With reference to the Vienna Convention on
Diplomatic Relations, consider the following
statements:

1. It applies to treaties between States and
international organizations.

2. Itestablishes the principle of non-interference
in the internal affairs of the receiving State.

Which of the statements given above is/are
correct?

(a) 1 only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Q10. Consider the following statements:

1. Wholesale Price Index is released by the
Ministry of Statistics
Implementation.

2. The Consumer Price Index is released by the
Ministry of Labour and Employment.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

and Programme
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Q11. With reference to the Eukaryotic

and Prokaryotic Cells, consider the
following statements:

1. Eukaryotic cells are generally smaller and
multiply more rapidly than the Prokaryotic
cells.

2. Unlike Eukaryotic cells, Prokaryotes lack a
well-defined nucleus, genetic
material is essentially naked, not enclosed by
a nuclear membrane.

3. Ribosome is the only cell organelle found in
both eukaryotic and prokaryotic cells.

How many of the above statements are correct?

(@) Only one

(b) Only two

(c) All three

(d) None

and their

Q12.Consider the following statements:
1. Budget deficit is the
expenditure over total

of total

receipts of the
government other than borrowings over the
financial year.

2. Fiscal deficit is the excess of total expenditure
over total receipts of the government over the
financial year.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Q13. With reference to Blue Forests, consider

excess

the following statements:

1. A mangrove is a small tree or shrub that
thrives in salty sediments near coastal areas,
growing partially submerged in water.

2. Kelp forests are coastal ecosystems that
experience periodic inundation and drainage
by saltwater carried in by tidal movements.

3. Salt marshes are extensive patches of brown
algae thriving in cool, relatively shallow
waters near the shoreline.

How many of the statements given above are
correct?

(@) Only one

(b) Only two

(c) All three

(d) None
Q14. Consider the following pairs:
Parliament Country

1. Jatiya Sangsad : Nepal

2. Knesset : Denmark

3. Duma and Federal Council : Russia

4. Diet : Japan

How many of the pairs given above are matched
correctly?

(a) Only one
(b) Only two
(c¢) Only three
(d) All four

Q15. With reference to the International Chess
Federation (FIDE), consider the following
statements:

1. FIDE was recognized by the International
Olympic Committee as a Global Sporting
Organization in 1999.

2. The headquarters of FIDE is located in
Lausanne, Switzerland.

3. The motto of FIDE is “Gens una Sumus” which
translates to “We are one Family”.

How many of the above statements are correct?
(a) Only one
(b) Only two
(c) All three
(d) None
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Q16.Consider the following statements:

1. The Age of Consent Act, 1891 was passed
during Lord Dalhousie’s Governorship.

2. The Indian Universities Act was passed
during Lord Curzon to improve the
working.

3. During the times of Lord Lansdowne the
second Factory Act in India was passed.
How many of the above statements are correct?

(a) Only one

(b) Only two

(c) Allthree

(d) None

Q17. Consider the following countries:

Greece

Bulgaria

Turkey

Iran

Russia

Ukraine

Syria

How many of the above countries share a
border with the ‘Black Sea’?

(a) Only two

(b) Only three

(c) Only four

(d) Only five

N wWwN =

Q18. Which among the following rulers issued
coins with a ship motif, indicating
the importance of overseas trade during
his reign?

(a) Yagnashri Satakarni

(b) Nahapana

(c) Rudradaman I

(d) Chandragupta Maurya

Q19.Consider the following pairs:

Site : Well known for
1.Udayagiri

2.Badami :

3.Ellora

Vaishnavite cave shrine
Buddhist cave shrine
Jain cave shrine

How many of the above pairs are correctly
matched?

(a) Only one

(b) Only two

(c) All three

(d) None

Q20.Which of the following freedom fighters
has written the book “Nijer Katha”
(My Story) of his stay in Chandannagar,
a French-occupied territory in India, to
escape from arrest by British officers?

(a) Aurobindo Ghosh

(b) Sachindranath Sanyal

(¢) Sardar Singh Bundela

(d) Subhash Chandra Bose

Q21.Consider the following pairs:

Occupation Disease
1. Silica Industry Silicosis
2. Asbestos Industry Asbestosis
3. Coal Industry Byssinosis
4. Cotton Industry Pneumoconiosis

How many of the pairs given above
are correctly matched?

(a) Only two

(b) Only three

(c) All four

(d) None
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Q22. With reference to United Nations Forum
on Forests (UNFF), consider the
following statements:
1. It was established by the resolution of the
United Nation Environment Programme.
2. India was the founding member of UNFF.
Which of the statements given above
is/are correct?
(a) 1only
(b) 2 only
(c) Both1and?2
(d) Neither 1 nor 2

Q23. With reference to the India Infrastructure
Project Development Fund,
following statements:

consider the

1. It aims at providing financial support for
development of PPP projects.

2. It was notified by the Ministry of Commerce
and Industry.

3. Itis a Centrally sponsored Scheme.

How many of the statements given above are
correct?

(@) Only one

(b) Only two

(c) All three

(d) None

Q24. With reference to the Rubber Board of
India, consider the following statements:
1. The Rubber Board is a statutory body under
the Ministry of Commerce and Industry.
2. The Board shall consist of a Chairman to be
appointed by the President of India.
Which of the statements given above
is/are correct?
(a) 1only
(b) 2 only
(c) Both1land?2
(d) Neither 1 nor 2

Q25. With reference to Payment Banks in
India, consider the following statements:

1. Its main objective is to widen the spread of
financial services to small business and low-
income households.

2. It can carry out most banking operations but
can’t advance loans or issue credit cards.

3. It can offer remittance services and other
banking services like ATM/debit cards.

How many of the above statements

are correct?

(@) Only one

(b) Only two

(c) All three

(d) None

Q26. With reference to The International Tropical
Timber Organization (ITTO), consider the
following statements:

1. It intergovernmental
promoting the sustainable management and

is an organization
conservation of tropical forests.

2. It collects, analyzes and disseminates data on
the production and trade of tropical timber.

3. Indiais a member nation of ITTO.

How many of the above statements are correct?

(a) Only one

(b) Only two

(c) All three

(d) None
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Q27. With reference to the Human
Nervous System, consider the
following statements:

1. The Central Nervous System includes the brain
and the spinal cord.

2. Both the Cranial Nerves and Spinal Nerves
originate from the brain.

3. Visceral Nervous System is a crucial component of

the Peripheral Nervous System.
How many of the above statements are correct?
(@) Only one
(b) Only two
(c) Allthree
(d) None

Q28 Consider the following Intellectual
Property Rights:
Trademark
Trade Secrets
Copyrights
Geographical Indications
How many of the above fall within the scope of the
‘Vienna Classification of Figurative Elements’
established by the ‘Vienna Agreement’ (1973)
administered by World Intellectual Property
Organization?
(@) Only one
(b) Only two
(c) Only three
(d) All four

W e

Q29. Consider the following statements:

1. Extreme Helium star is low-mass supergiant star.

2. EHe stars are more massive than Sun despite being
much larger and hotter.
Which of the statements given

above is/are NOT correct?

(@) 1only

(b) 2only

(c) Both1land?2

(d) Neither 1 nor 2

Q30. 'With reference to ‘Stand up India Scheme’,
consider the following statements:

1. It aims to promote entrepreneurship amongst
women,0BCs, SC & ST category.

2. Itaims to provide loans for brownfield enterprises
in manufacturing, services or the trading sector
and activities allied to agriculture.

3. Itaims to facilitate bank loans between 1 crore to

5 crores.

How many of the above are the objectives of the Stand
up India Scheme?

(2) Only one

(b) Only two

(c) All three

(d) None

Q31. With which among the following companies
an agreement was signed by Indian

Strategic Petroleum Reserves Ltd (ISPRL)

to invest in the strategic crude oil storage
facility in Mangalore?

(a) Abu Dhabi National Oil Company

(b) Saudi Aramco

(c) ExxonMobil, USA

(d) Bashneft (Russian oil refining company)

Q32. Consider the following:

1. Trade and Development Report

2. World Investment Report

3. Technology and Innovation Report
4. Digital Economy Report

How many of the above reports are published
by the The United Nations Conference on
Trade and Development (UNCTAD)?

(2) Only one

(b) Only two

(c) Only three

(d) All four
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Q33.Consider the following pairs:

Theatre Form : State
1. Bhand Pather: Jharkhand
2. Maach: Madhya Pradesh
3. Bhaona: Bihar

How many of the above pairs are
correctly matched?

(a) Only one

(b) Only two

(c) All three

(d) None

Q34.In the context of medieval India, terms

like “vetti’ and “kadamai’ were referred

to as:

(a) Peasantclasses that became prominent during
the tenth century

(b) Irrigation channels established for water
supply in the urban centres

(c) Revenue collection systems

(d) Rituals performed to obtain titles for kings

Q35. Consider the following statements regarding
the Gross Domestic Product (GDP) Deflator:

1. It compares the economy of a country at
different points in time.

2. It evaluates the economy of two countries at
the same point in time.

3. It helps in understanding the trends in
changes in price levels.

4. It gives information on the changes in the

volume of production of goods and services.
How many of the statements given above are
correct?
(@) Only one
(b) Only two
(c) Only three
(d) All four

Q36. Recently the Khurda Model of
Redevelopment was seen in the news, it is
related to:

(a) Portinfrastructure
(b) Road infrastructure
(¢) Railway infrastructure
(d) Tribal upliftment

Q37. Consider the following statements:

1. Anonymous data is a data that is initially
personal data but is later made anonymous
using certain data transformation techniques
Non-personal data is defined as any set of data
which does not contain personally identifiable
information.

Which of the above statements is/are correct?

(a) 1O0nly

(b) 2 Only

(c) Both1and?2

(d) Neither 1 nor 2

Q38. With reference to the Lymphatic
System, consider the following statements:

1. Lymph supplies nutrition and oxygen to those
parts of the body where blood cannot reach.

2. Both lymph and blood is pumped by heart to
the different parts of the body.

3. Spleen is the largest lymphoid organ in the
human body.

4. Lymph contains Plasma and White Blood Cells

but does not contain Red Blood Cells.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c¢) Only three
(d) All four
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Q39. Consider the following pairs:
Operations carried by India:Associated Country
1. Ajay: Ukraine
2. Kaveri: Sudan
3. Dost: Syria
How many of the above pairs are correctly matched?
(a) Only one
(b) Only two
(c) All three
(d) None

Q40. With reference to the Regulatory Sandbox (RS),
consider the following statements:

1. It allows for live testing of novel products or
services in a controlled regulatory environment.

2. On a case-by-case basis, the RBI may consider
reducing some of the regulatory criteria for
applicants during the RS period.

3. The RBI or its RS can provide some legal
waivers.

How many of the above statements are correct?

(a) Only one

(b) Only two

(c) Only three

(d) NONE

Q41. With reference to the cultural history of India,
consider the following statements regarding
Amaravati school of art:

1. It was patronized by the Satavahans.
It mainly used white marble like stone for
carving.

3. It depicted the stories from the life of the
Buddha.

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q42.Which of the following statements are correct
regarding National Strategy for
Education (NSFE):

1. Ithas been prepared by RBI.

2. NSFE intends to empower various sections of
the population to develop knowledge, skills,
attitude and behavior which are needed to
manage their money better and to plan for their
future.

3. National Centre for Financial Education (NCFE)
would be responsible for periodic monitoring
and implementation of NSFE.

How many of the above statements are correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Financial

Q43.Which of the following rulers from southern
India accorded the title of ‘Maduraikonda’, the
conqueror of Madurai, after defeating the
Pandyan dynasty?

(a) Parantakal

(b) Krishna III

(c) Vijayalaya

(d) Mayursharman

Q44. With respect to the Comptroller and Auditor
General of India (CAG), consider the following:

1. Secret services expenditure

2. Private auditing of public corporations

3. Functions of Public Accounts Committee

Which of the above limits the auditing role of the
Comptroller and Auditor General of India?

(a) 1and 2 only

(b) 2 and 3 only

(c) 1and 3 only

(d) 1,2and 3
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Q45. Consider the following:

1. Protection of the strength and health of the
workers.

2. Participation of workers in the management of
industries.

3. Organization of village panchayats as units of
Self Government.

4. Prohibition on slaughter of cows and calves.

5. Encouragement settlement of international
disputes by arbitration.

How many of the above are part of the Directive
Principles of the State Policy in India?

(@) Only two

(b) Only three

(¢) Only four

(d) All five

Q46. Consider the following statements :

1. The structure of the Union Council of Ministers
is dealt with in Article 75 of the Constitution of
India.

2. The executive power of the Union is vested in
the Prime Minister of India.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Q47. Consider the following statements:

1. An FIR can be quashed only under the
provisions of IPC.

2. A petition for quashing an FIR and other
related proceedings against the accused must
be filed before the respective High Court.

3. Ingeneral, FIR in the cases of crime against the
society can’t be quashed even if the victim or
family have settled the dispute.

4. The relevant provisions of law on quashing
FIRs are not maintainable under sections of
Domestic Violence act, 2005.

How many of the above statements are correct?

(a) Only one

(b) Only two

(c¢) Only three

(d) All four

Q48.Consider the following statements:

1. South Atlantic Anomaly (SAA) is an unusually
strong spot in the Earth’s Magnetic Field.

2. It allows charged particles from Sun to dip
closer to the Earth’s surface than normal.

Which of the statements given above is/are NOT
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

49. With reference to Warli Paintings, which of
the following statements is/are correct?

1. It expresses daily and social events of Warli
tribe of Maharashtra.

2. In Warli paintings a series of dots and dashes
make one line.

3. These paintings do not depict mythological
characters or images of deities.

How many of the above statements are correct?

(a) Only one

(b) Only two

(c¢) Only three

(d) NONE
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Q50. With reference to the Jagirdari system
under the Mughals, consider the
following statements:

1. The Jagirdars were paid their salaries in cash
or through a piece of land assignment.

2. The Jagirdars were allowed to keep their
Jagirs permanently and pass them on to their
heirs.

3. Amin was posted in suba to keep the

regulation over Jagirdars.

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q51. Consider the following statements
with reference to the ‘Massive

MIMO Technology’?
It is employed in the Giant Metrewave Radio
Telescope (GMRT) to measure the intensity of
the cosmic Gravitational Waves.
[t transmits 5th generation cellular networks
by propagating narrow beams of radio waves

1.

to connect individual mobile devices instead
of using a single large beam.

It (3-D)
beamforming method to increase the network
bandwidth over a particular region.

How many of the above statements are correct?
(@) Only one

(b) Only two

(c) All three

(d) None

uses a three-dimensional

Q52. Consider the following statements
with reference to the Platform as a
service (PaaS)?

1. It enables users to design, build and update
mobile applications without establishing their
own servers and storage facility.

2. Paas buyers can customise their own

operating system on the platform.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Q53. With reference to the Active
Pharmaceutical Ingredients (API’s),
consider the following statements:

1. They are a biologically active component of
medications that produce a therapeutic effect.
2. They do not occur naturally but can only be

produced synthetically.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Q54. With reference to municipal bonds, which
of the following statements is/are correct?

1. Lucknow was the first city in south Asia to
launch a municipal bond in 1998.

2. A municipal bond is a kind of debt instrument
where investors give loans to local Urban
Local Bodies (ULBs).

3. Bonds are issued to institutional and high net

worth individuals.
How many of the above statements are correct?
(a) Only one
(b) Only two
(¢) Only three
(d) NONE
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Q55. Consider the following statements:

1. The Dedicated Freight Corridor consists of
two arms - Eastern Dedicated Freight Corridor
(EDFC) and Western Dedicated Freight
Corridor (WDFC).

2. ltis constructed by NHAL

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Q56. With reference to the Patachitra
Painting, consider the following statements:

1. It is a traditional art form of Odisha popular
for its intricate details.

2. Itis painted on walls and tussar cloth.

3. It often depicts religious themes related to

Lord Jagannath.
How many of the statements given above are
correct?
(a) Only one
(b) Only two
(c) All three
(d) None

Q57. Which of the following statements
best describes the term ‘Metastasis’?

(@) It is a self-regulating process by which a
living organism maintains its internal
stability while adjusting to changing
external conditions.

(b) It is the process of spread of cancer cells
from the primary site of the original tumour
to other parts of the body, where they form
secondary tumors.

(c)It is the process of formation of
microspores from a pollen mother cell
(PMC) during the sexual reproduction in
plants.

(d) It is the accidental spread of radioactive
materials throughout a nuclear reactor,

leading to increased radiation exposure
and potential meltdown.

Q58. Which of the following statements is
True regarding the India-Middle
East-Europe Economic Corridor (IMEC) ?
(a) It has been operational since its
announcement at the World Bank.
(b) Itis an alternative trade route that bypasses
the Strait of Hormuz entirely.
() Its success is contingent upon the
normalization of Arab-Israel relations.
(d) It has reduced the transportation costs
for India’s trade with Europe and North Africa.

Q59. Consider the following statements about
Light Detection and Ranging Survey
(LiDAR) technique:

1. LiDAR is a remote sensing method that uses
light in the form of a pulsed laser to measure
variable distances to the Earth.

2. Thistechnique is used to examine both natural

and manmade environments.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2
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Q60.Which of the following statements is/are
correct with reference to Electronically
Transmitted Postal Ballot System for NRIs?

1. Any NRI interested in voting through the
postal ballot in an election will have to inform
the Returning Officer (RO) after five days after
the notification of the election.

2. The RO will dispatch the ballot paper
electronically.

3. The NRIvoters will download the ballot paper,
mark their preference on the printout and
send it back along with a declaration attested
by an officer appointed.

How many of the above statements are correct?

(a) Only one

(b) Only two

(c) Only three

(d) NONE

Q61. With reference to SWAMIH Fund, consider
the following statements:

1. It aims for completion of stalled and stressed
residential projects.

2. It provides assistance to projects that have
completed 50% of the construction.

3. It operates under the Ministry of Housing and
Urban Affairs.

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q62. Which of the following are
particulate pollutants?

1. Hydrogen sulfide

2. Nitrates

3. Black carbon

4. Carbon monoxide

5. Microbial compounds

Select the correct answer using the code given

below:
(@) 1,4 and 5 only
(b) 2,3 and 5 only

(¢) 2,4 and 5 only
(d) 1,2,3and 5

Q63. India has taken various steps for democratic
governance of the IOR. These include which of
the following:

1. Indian Ocean Naval Symposium (IONS)

2. Indian Ocean Rim Association (IORA)

3. Humanitarian And Disaster Relief Operations
(HADAR)

4. Maritime Domain Awareness (MDA)

How many of the above statements are correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q64. Tuhfat-ul-Muwahhiddin, a philosophical
work published in 1805, analyzed the

major religions of the world in the light

of 'reason' and 'social comfort'

was authored by?

(a) Sayyid Ahmad Khan

(b) Rammohan Roy

(c) Swami Vivekanand

(d) Abul Kalam Azad

Q65. Consider the following statements:

1. India’s first Lithium refinery which will
process Lithium ore to produce battery-grade
material will be set up in Gujarat.

2. Lithium is found in brine deposits and as salts
in mineral springs.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2
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Q66. Which of the following statements regarding
Lab Grown Meat is/are correct?

1. The Food and Drug Administration, US have
approved the sale of a lab-grown meat product.

2. Lab-grown meat is different from plant-based
meat.

3. Cultivated beef could reduce land use.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) Only three

(d) NONE

Q67. With reference to the RBI Governor,
consider the following statements:

1. The Governor of the RBI holds office for periods
not exceeding five years.

2. The term of the governor may be fixed by the
government at the time of his appointment.

3. The qualification for Governor is a matter of

convention.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) Only three
(d) None

Q68. With reference to the Money Bill, consider
the following statements:

1. A Money Bill can be introduced in the Legislative
Council.
2. In the State it can be introduced only on the

recommendation of the Governor.
Which of the statements given above
is/are correct?
(@) 1only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2
Q69. With reference to Finance Commission

of India, consider the following statements:

1. Itis the statutory body.

2. Its recommendation is binding on the
government of India.

3. It suggests distribution of only planned

resources between center and states.

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q70.With reference to Indian Economy, the term
‘crowding out effect’ is best described as:

(a) Reducing public sector spending that boosts
private sector spending.

(b) Reducing dependence on imports of finished
goods.

(c¢) Rising public sector spending that drives down
private sector spending.

(d) Rising oil prices that drive down foreign
exchange reserves.

Q71. With reference to the functions performed
by the Cabinet in Indian model of governance,
consider the following statements:

1. It is the body which determines government
policy for presentation to the Parliament.

2. It is responsible for implementing government
policy.

3. It carries out interdepartmental coordination
and cooperation.

4. It reviews the budgetary allocations made to

various ministries and departments before they
are laid on the floor of Lok Sabha.

How many of the above statements are correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four
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Q72. With reference to the Urban
Infrastructure Development Fund,
consider the following statements:

1. It was announced by the Finance Minister in
the interim budget 2024-2025.

2. It was established through the use of priority
sector lending shortfall.

3. It will be managed by the National Housing

Bank.

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

Q73. Consider the following statements with
reference to Society for Affordable Redressal
of Disputes - Ports (SAROD-Ports):

1. SAROD ports will advise and assist in the
settlement of disputes through arbitrations in
the maritime Sector.

2. It will not cover disputes between granting
authority and Licensee
/Concessionaire/Contractor and disputes
between Licensee/Concessionaire and their
contractors.

Which of the statements given above is/are NOT
correct?

(a) 1only

(b) 2 only

(c) Both1and?2
(d) Neither 1 nor 2

Q74.Consider the
Alauddin Khalji:
Mandu
Ranthambore

following campaigns by

Dwarasamudra
Thanjavur

BN e

Arrange the above campaigns in the chronological
order:

(a) 1-2-3-4

(b) 2-1-3-4

(c) 2-1-4-3

(d) 2-3-1-4

Q75. With reference to the
Delimitation Commission of India,
consider the following statements:

1. [Itis athree-member constitutional body.

2. The Chief Election Commissioner of India is
the Chairperson of the commission.

3. It has all the powers of a civil court under the

Code of Civil Procedure, 1908.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) All three
(d) None

Q76. With reference to the PM Gati Shakti
National Master Plan, consider the
following statements:

1. It provides a comprehensive database of the
ongoing and future projects of various
Ministries.

2. ItisaRs.100 lakh-crore project for developing
holistic infrastructure.

3. It has been developed as a Digital Master

Planning tool by BISAG-N (Bhaskaracharya
National Institute for Space Applications and
Geoinformatics).

How many of the above statements are correct?

(a) Only one

(b) Only two

(c¢) Only three

(d) All four
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Q77. Consider the following statements:

1. A Government Security (G-Sec) is a tradable
instrument issued only by the Central
Government.

2. State Government issues both, treasury bills
and bonds or dated securities.

3. Treasury bills or T-bills are money market

instruments which pay no interest.

How many of the above statements are correct?
(@) Only one

(b) Only two

(c) Only three

(d) All four

Q78.Which of the following water bodies would a
cargo ship, travelling from Ecuador to Cuba,
pass through to minimise the route length?

(@) Suez Canal

(b) Panama Canal

(c) Grand Canal

(d) Saimaa Canal

Q79.With reference to the mechanism of hearing
in human ear, consider the following
statements:
The organ of Corti, situated within the Cochlea,
detects both higher-pitched as well as lower-
pitched sounds.
The Eustachian tube helps in equalising the
pressures on either side of the eardrum.

Which of the statements given above
is/are correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Q80. With reference to The International Coral
Reef Initiative (ICRI), consider the
following statements:

1. Indiais a founding member of this Initiative.

2. Its announcement was made during the 1994
First Conference of the Parties to the
Convention on Biological Diversity.

3. Itlaunched the Coral Reef Breakthrough.

How many of the above statements are correct?
(@) Only one

(b) Only two

(c) All three

(d) None

Q81. With reference to Invasive Alien Species,
consider the followings statements:

1. They are plants, animals, pathogens and other
organisms that are non-native to an ecosystem
and harmful to human health.

2.  Water hyacinth has invaded tropical habitats
worldwide.

3. The Bern Convention is managed by the

Council of Europe for the control of Invasive
Alien Species.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) Allthree

(d) None

Q82. With reference to the agricultural subsidies
of World Trade Organization (WTO),

consider the following statements:

In the green box, nearly all domestic support

measures are considered to distort production

and trade.

The blue box is categorized as an "amber box

with stipulations” aimed at mitigating

distortions.

In amber box subsidies must not distort trade,

or at most cause minimal distortion.

How many of the above statements are correct?
(a) Only one

(b) Only two

(c) All three

(d) None
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Q83. With reference to the Comptroller and
Auditor General of India (CAG), consider the
following statements.

1. CAG can be removed by the President on the
same grounds and in the same manner as a
judge of the Supreme Court.

2. The Finance Minister is the authority which
represents the CAG in the Parliament.

3. The Reserve Bank of India is audited by CAG.

How many of the above statements are correct?
(a) One only
(b) Only two
(c) All three
(d) None

Q84. Consider the following statements:

1. The Chief Election Commissioner and other
Election Commissioners shall be appointed by
the President by warrant under his hand and
seal.

The Chief Election Commissioner and Election
Commissioners enjoy the salary,
privilege and security of tenure which has
been given to a judge of supreme court.

same

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Q85. Consider the following statements in the
context of interventions being undertaken
under Health Technology Assessment in India

(HTAIn):

1. It collects evidence related to cost-effective
management of health-based issues.
2. It forms resource centres in the medical

research institutes and educational centers for
better coordination.

3. It addresses out-of-pocket

problems to equity.

How many of the statements given above are
correct?

(a) Only one

(b) Only two

(c) All three

(d) None

expenditure

Q86. Consider the following statements with
reference to Bubble Baby Syndrome (BBS):

1. It leads to the birth of infants with
microcephaly and other congenital
abnormalities.

2. It is a genetic disorder affecting the immune
system.

3. Bone marrow transplant is a viable treatment

option for this condition.
How many of the above statements are correct?
(a) Only one
(b) Only two
(c) All three
(d) None

Q87. Which of the following parameters are
included in the Human Development Index
(HDI), published by the United Nations
Development Program (UNDP)?

GNI per capita

Expected years of schooling

Mean years of schooling

Under five mortality rate

Select the correct answer using the code given

P wnNR

below.
(@) 1,2 and 3 only
(b) 3 and 4 only
(¢) 1,2 and 4 only
(d) 1,2,3and 4
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SIS SRTHRIArS aral fRIgrsif &1 o+ gar
gl

2. U8 Ueb 3MIaTR1b AR & S ufeRar yomedt &
guIfad BT

3. 59 fRufd & forw &1fRy It YaRIyor te o
SUER fdbeu |

IWIad HY H I fra- g 87

(a)%ﬁ@

(b) b

(c) Gt dH

(d) IS Tg!

Q87. TgH 1Y fIbr HRieH (guAsId) gRI
UHIRIG A4 [N qEdhi® (TaeisE) |
fafafed & @ o 9 WRfer Mita | 2

1. ufa cufe Shasrms

2. 3(Ufard wpell fRigm o qul

3. gl RIgm & 3iad ay

4. 9 99 4 HH M & g Dl I &%

1 fAT T DI &1 SUANT HReb el SR A |

(2) PIA 1,2 3R 3

(b) Had 3 3fR 4

() Pad 1,2 3R 4

(d) 1,2,3 3R 4
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Q88.Which of the following statements is not correct

with respect to various soil types found in India?

(a) Sand content in the alluvial soil tract of the
Northern Plains decreases from west to east.

(b) Black soils are rich in phosphorous but deficient
in lime.

(c) Redsoilispoorin nitrogen and phosphorus with
kaolinite clay minerals commonly present.

(d) Snow covered Himalayan region’s soil is acidic
in nature.

Q89. Which of the following statements are correct
with reference to Simultaneous Elections?

1. Simultaneous Elections were the norm until
1967

2. Simultaneous Elections idea was proposed by
Election Commission in 1983

3. It means structuring the Indian election cycle in
a manner that elections to Lok Sabha and State
Assemblies are synchronized together under
which voters in a particular constituency vote
for both on the same day

4. Itcan be conducted in a phase-wise manner

How many of the above statements are correct?

(a) Only one

(b) Only two

(c) Only three

(d) All four

Q90. Consider the following statements with
reference to Liquidity Trap:

1. A liquidity trap is a contradictory economic
situation in which interest rates are very high
and savings rates are low.

2. It leads to a scenario where any additional
money supply that is generated in the economy
gets channelled towards savings rather than
investment.

Which of the statements given above is/are correct?

(@) 1only

(b) 2 only

(c) Both1and2
(d) Neither 1 nor 2

Q91. With reference to Production Linked Incentives
Scheme, consider the following statements:

1. It aims at boosting domestic manufacturing of
goods specifically meant for exports.

2. The scheme is output-based, which means that
incentives disbursed only after
production has taken place.

Which of the statements given above is/are NOT
correct?

(a) 1 only

(b) 2 only

(c) Both 1and 2
(d) Neither 1 nor 2

will be

Q92. Recently the Single Directive was seen

In the news, which of the following best describes it?

(a) It mandates the prior approval of the
government for conducting an inquiry against
government against
corruption or abuse of their official position.

(b) It refers to the directive issued by an anti
corruption agency against Ministers to explain
the sources of their disproportionate assets.

(c) It refers to the convention of handling multiple
corruption cases against a civil servant by a
single anti-corruption agency.

(d) It mandates that all government decisions must
be approved by a single authority, ensuring
centralised control.

servants under laws
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Q88. YRd ¥ UTg oA arell fafia UeHR &1 fiygt
ey T FEfiied 8 3 & 91 &3 93! 76767

(a) SR T & olale el Uy o ¥d &1 A6 ufgm
Aqd Pl AR geH A 2|

(b) Tet it 7 BIep R TR | § gidT & Afe
T P BH B B

(c) AT ST & ATSCoF 3R BRBRY P HH! it
gﬁaﬁgmﬁwﬁgﬁ%@ﬁﬁ&m?u?ﬁ@

|
(d)%ﬂ?ﬁa%%ﬁmaﬁaﬁﬁ@&rwﬁﬁwﬁrﬁ
|

b

Q89.T% Ty g9 & Yo A Fufaf@a A @ o an
HYT ol 82

1. 1967 T% T 1Y AT BT ATH &1 ot

2. U 1Y AT BT fodR 1983 T AT ST gRT

UdTfad fobar ar ot

3. 391 31 § YR gH1d 9eh &1 39 e 9 TR
AT b AIHIHT 3R I faurHTaf & gama
T% U1y GHGIA® 8l, o9 dgd T Ay
fafe &= & dacrd e 81 & Il & o
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4. 38 TUEG i I Jferd fhar s gear g

SWRIad H I fhd- HUT I8 &2
(a) A T
(b) Rk 1
(c) had o
(@) 9t IR

Q90. dXAdT oI & HeH # FufoRad wui W
faR &3

1. IR o1l Uep faRremHre snfdfer fRufa g o
?aa%aga&m@?ﬁ%aﬁ?wﬁm@?ﬁ
|
2. U8 U U URexy @t 3R o Wil § e
SfITRITH I B aTelt pis 1 SifaRad o=
G@gﬁ%ﬁﬁ%mwaﬁmﬁﬁﬂﬁ
|

FW UM S T A B a1/ TR 2/
(a)ml
(b) Had 2
(c) 1 3R 2 gl

(d)T172

Q91. SdIG ¥ JSI Wred aer & deH #,
frofafed sy R AR &3

1. 3P 3£ fa-W ¥ § fafd & fag axgsii &
T A sgrar SR

2. g8 TIoHT 33cye-3utid ©, forget orf g &
UicdTe- had SdIG 8i- o §IG ol [adid fodT
ST |

SR RUMHYTN AP I/ A TR T 8/82
(a) Pad 1

(b) Had 2

(c) 18R 2l

(d) T172

Q92. 8Td g1 H RivTd sSPRfdea & THRRT & <&
T, Frafafad § @ o s 9ed a1 aufq
AT 82

(2) STH YVTEAR T1 UG & gOUANT & [d5g BTl &
qed BRI HHATRGT & [38g S HA & forw
IRHR B! gd I o1 Sifard fear man g |

(b) YSTER fRIYS Toidt gRT A4l & favg S_t
Y o1 I Sar g, o ST S9! 3 ¥
3if¥ep TUfI P Fd Sa Dl HETTATR |

(c) U8 U& Ffad Yo & Avg YPRR & e
A D TP & YPER FRIYS Toldl gRI
fge™ o o
P! Gefid s gl

(d) 399 T fard foear mar ® fb ot SR
fofal &1 T & WeRT gRT SRR
ST ARE, dTfoh el (a0 YT 81 9 |
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Q93. Consider the following statements with

reference to TX2 Tiger Conservation Awards:

1. TX2 stands for “Tigers times two”.

2. TX2 Tiger Conservation Awards are given in
four categories.

Which of the statements given above is/are
correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

Q94. Consider the following countries:
1. Republic of Congo
Republic of Zambia
Botswana
Republic of Namibia
Democratic Republic of Congo
Gabon
ow many of the above given countries share a
land border with Angola?
(a) Only three
(b) Only four
(c) Only five
(d) All six

2
3
4,
5.
6.
H

Q95. With reference to Carbon Border
Adjustment Mechanism (CBAM), consider
the following statements:

1. It is a type of carbon tax imposed over
products like cement and steel.

2. It includes reporting the composition of
greenhouse gas emissions in goods.

3. Ithas been proposed by the European Union.

How many of the statements given above are
correct?

(@) Only one

(b) Only two

(c) All three

(d) None

Q96. Which of the following is/are
incorporated under the ambit of Over-the-
top media services (OTT) platforms?

1. Audio streaming

2. Messaging services

3. Internet-based voice calling solutions

How many of the above statements are correct?
(a) Only one

(b) Only two

(c¢) Only three

(d) NONE

Q97. Consider the following pairs:
Tribes States

1. Mankidia Odisha

2. Sarna Jharkhand

3. Tharu Uttar Pradesh

How many of the above pairs are correctly
matched?

(a) Only one
(b) Only two
(c) Only three
(d) All four

Q98. Consider the following statements:
Statement [:
The presence of sulphur dioxide in
the atmosphere can help in cooling the
planet Earth.
Statement II:
Sulphur dioxide in the atmosphere
gets converted into sulphate aerosols
that reflect back solar radiation.
Which one of the following is correct in
respect of the above statements?

(a) Both Statement I and Statement II are correct
and Statement II is the correct explanation for
Statement I.

(b) Both Statement I and Statement II are correct
and Statement Il is not the correct explanation
for Statement I.

(c) Statement [ is correct but Statement II is
incorrect.

(d) Statement I is incorrect but Statement II is
correct.
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Q93. TX2 1Y IREU RW®R & daH ¥ Fyfafad

HY R faaR

1. TX2 BT HAAS § “STE UM G |

2. TX2 979 W& REHR IR A0t # iGT 1 & |
FW UM S T A B a1/ TE 8/

(a) Had 1

(b) Had 2

(c) 1 3R 2 &t

(d)T172
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1. BN TTURTSY

2. ST TURTSY

3. SiegarT
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3. SO TRTd RIYTT T9 A 34T 8.
SR U Hy H I foraa T8t 87
(a) A T
(b) R ar
(c) i dH
(d) Pl el

Q96. Fufef@a # A siiaR-g-efu Hifgur afdaw
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1. SfifEay T
2. Y Jamd
3. Fe3Ae MMYUTRT TT BiTelT THTUH
SWRIed A Y fram HU= T8l 82
(a) PIA D
(b) Rk @
(c) Had di
CEIERE
Q97. Fafafad sifeal R fauR &v:
RS LG L I
1. Hifepfsar anfsm
2T IRTS
3. Y= IR YSI
SRIGd | Y fohdA ol T8 Al &7
(a) PIA D
(b) Rkt
(c) had o
OELIEIN
Q98. FHfaRad HUl IR faaR 3
DYAI:
qIgHSA T Gethr SIRHTRISS o1 Iurufa geat

U8 1 481 - 1 Hag R gl |
DY II:
TH S T e SIS 3RS s Yetbe W H
gRkafed g1 ST 8 off IR fafRor &1 wafdd
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m%aawﬁ%wuﬁﬁaﬁr@aﬁ@raﬁqwﬁ

() Y1 AR HYF 11 1 Tl § 3R HYF 11, B
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1 T el WEIHRU T8l g
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(d) BYUF 1751 g Al B 11 I8! g
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Q99. With reference to ‘Karst Topography’,
consider the following statements:

1. Surface is predominated by swallow holes.

2. Stalagmite is a downward growing pinnacle
hanging from the cave roof.

3. Karstregions are deficient in surface drainage.

How many of the above given statements are
correct?

(a) Only one
(b) Only two
(c) All three
(d) None

Q100. Consider the following Articles of the
Indian Constitution:

Article 14

Article 15

Article 16

Article 29

How many of the above Articles of the Indian

Constitution reveal the Secular character of the

Indian state?

B W N e

(a) Two only
(b) Three only
(c) All four
(d) None

Q99. HRE AP & e I, FafafRea sy =
foeR SIS

1. 9dg W 1 fogl &t uumar gt 3|

2. WSS ] B §d Y Aedhdl gofl A & 3R
¢ T RRR B

3. B &3 H gl od B Bt HHI g |

FWR e T By H A fobd T8l 22
(a) Pl T

(b) Rkt

(o) gt dF

(d) I TRl

Q100. YRq dfdeu™ & Fufafed s=val W
ICEIRGEE

1. 3G 14
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3. 34 16

4. 3TG 29
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T & YHfRUE TRA B Udhe Hd 82
(a)mﬁ
(b) BHad I
OELIEIN

(d) PIS TRl
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